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QUESTION 1

Save on the toolbar affects what file(s). Within EnCase, clicking on Within EnCase, clicking on saveon the toolbar
affects what file(s)?

A. All of the above

B. The open case file

C. The configuration .ini files
D. The evidence files

Correct Answer: B

QUESTION 2

EnCase is able to read and examine which of the following file systems?
A. HFS

B. FAT

C.NTFS

D. EXT3

Correct Answer:. ABCD

QUESTION 3

Which is the proper formula for determining the size in bytes of a hard drive that uses cylinders (C), heads (H), and
sectors (S) geometry?

A.CXHXS
B.CXHXS+512
C.CXH+S
D.CXHXS X512

Correct Answer: D

QUESTION 4

The following GREP expression was typed in exactly as shown. Choose the answer(s) that would result. 800[)
\-]+555-1212
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A. 800-555 1212
B. 800.555.1212
C. 8005551212
D. (800) 555-1212

Correct Answer: D

QUESTION 5
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A FAT directory has as a logical size of:

A. One cluster
B. 0 bytes

C. 128 bytes
D. 64 bytes

Correct Answer: B
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